

			Vendor	Ranking		Page 1 of 1
Letting:	05210504	May 04, 2021 02:00 PM	Call Order	: 007	Contract:	E58A9
District: Contract Time: Contract Desc:	District 5 730 AVAILA DISTRICTW	BLE DAYS IDE TSM&O PUSHBUTTON C	Counties:	WIDE, FLAGLER, LAKE,	Fed Aid No Project(s):	: N/A 44623615202 (*)

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	CONTI, LLC	Responsive	Winning bid	\$1,323,159.42	100.00%
2	TRAFFIC CONTROL DEVICES, INC.	Responsive	Non-Winning Bid	\$1,477,000.00	111.63%
3	AMERICAN LIGHTING AND SIGNALIZATION, LLC.	Responsive	Non-Winning Bid	\$1,648,020.00	124.55%
4	HIGHWAY SAFETY DEVICES, INC.	Responsive	Non-Winning Bid	\$1,898,431.00	143.48%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

FDOT
A A

Tabulation of Bids

05210504 Contract: Lettina: E58A9 May 04, 2021 Call Order: 007 District: District 5 Fed Aid No: N/A Counties: BREVARD. DIST/ST-WIDE, FLAGLER, LAKE. Contract Time: 730 AVAILABLE DAYS Project(s): 44623615202 (*) MARION, ORANGE, OSCEOLA, SEMINOLE. Contract Descr: DISTRICTWIDE TSM&O PUSHBUTTON CONTRACT -

This is a Work Document driven quick response contract for installing Transportations (TSM&O) improvements, such as: video and microwave vehicle detection systems, modifications to existing vehicle detection systems, and modifications to existing traffic signal controller cabinets necessary to provide data required by Advanced Traffic Signal Performance Metrics (ATSPM) towards improving traffic management capabilities for a period of two (2) years or until the contracted amount has been reached. The number of work documents from the contract will be limited by a budgetary ceiling of \$500,000 dollars. See Ad and Specs for details.

The quantities shown on the Bid Price Proposal are approximate and only represent estimated planned requirements based on historical or specific project needs. The Department does not guarantee any maximum or minimum quantity, any range of quantities, or the exact quantities shown for each bid item. The Departments estimated quantities and the Contractors bid price will be used to calculate a total bid amount. This total bid amount will then be used to determine the low bidder; however, actual

payment under the awarded contract will be based on actual quantities completed.

For this Contract in which specific sites are not identified at the time of letting, the Engineer will issue a Work Document. Work Documents will identify the location, description, amount of work to be accomplished, and the number of calendar days to complete the work. See Ad and Specs for details.

PREQUALIFICATION REQUIRED

Line No / Item ID Alternate Item Description	Quantity Units	(1) CON	ΓΙ, LLC	(2) TRAFFIC DEVICE	CONTROL S, INC.	· · /	LIGHTING AND ATION, LLC.
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 In	telligent Tran	sportation Syster	n				
0005 0630 2 11 CONDUIT, FURNISH & INSTALL, OPEI TRENCH	1,000.000 N LF	13.72000	13,720.00	12.10000	12,100.00	20.00000	20,000.00
0010 0630 2 12 CONDUIT, FURNISH & INSTALL, DIRECTIONAL BORE	1,000.000 LF	22.17000	22,170.00	28.20000	28,200.00	30.00000	30,000.00
0015 0635 2 11 PULL & SPLICE BOX, F&I, 13" x 24" COVER SIZE	5.000 EA	826.67000	4,133.35	710.00000	3,550.00	1,500.00000	7,500.00



05/14/2021

Tabulation of Bids

Page 2 of 8

Letting:	05210504	May 04, 2021	Cal	I Order: 007		Contract:	E58A9	
Line No / I Item Desc		Quantity Units	(1) CON	TI, LLC	(2) TRAFFIC DEVICE			LIGHTING AND ATION, LLC.
() indicates	item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	CTION: 0001	Intelligent Trar	nsportation Syster	n				
LOOP DETEC) 1105 CTOR, INDUCTIVE, F&I ANNEL, SOLID STATE, NTED		485.48000	8,253.16	210.00000	3,570.00	500.00000	8,500.00
) 1106 CTOR INDUCTIVE , F&I H,SS,S,TD	5.000 , EA	487.68000	2,438.40	236.00000	1,180.00	500.00000	2,500.00
) 1109 CTOR INDUCTIVE, F&I,	34.000 EA	420.58000	14,299.72	210.00000	7,140.00	500.00000	17,000.00
) 1110 CTOR INDUCTIVE, F&I,	11.000 EA	421.26000	4,633.86	236.00000	2,596.00	500.00000	5,500.00
)2102 //BLY, F&I, TYPE B	14.000 AS	2,201.64000	30,822.96	757.00000	10,598.00	2,500.00000	35,000.00
)2106 //BLY, F&I, TYPE F	17.000 AS	2,365.68000	40,216.56	865.00000	14,705.00	2,500.00000	42,500.00
LOOP ASSEM) 2401 MBLY, F&I, VEHICLE LEAD IN- HOMERUN R, AERIAL INCLUDE DERGROUND	10,880.000 LF	1.29000	14,035.20	1.85000	20,128.00	4.00000	43,520.00
VEHICLE DET) 3 11 TECTION SYSTEM- E, FURNISH & INSTALL UIPMENT	23.000 EA	6,277.38000	144,379.74	7,510.00000	172,730.00	7,000.00000	161,000.00



05/14/2021

Tabulation of Bids

Page 3 of 8

Letting:)5210504 N	May 04, 2021	Cal	I Order: 007		Contract:	E58A9	
Line No / Item ID Item Description		Quantity Units	(1) CON	TI, LLC	(2) TRAFFIC DEVICE		(3) AMERICAN SIGNALIZA	
() indicates item is l	bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001	Intelligent Tran	sportation System	n				
0060 0660 3 12 VEHICLE DETECTIO MICROWAVE, FURN ABOVE GROUND EC	IISH & INSTALL,	45.000 EA	8,288.18000	372,968.10	8,585.00000	386,325.00	9,000.00000	405,000.00
0065 0660 4 11 VEHICLE DETECTIO FURNISH & INSTALI EQUIPMENT		20.000 DEO, EA	13,939.17000	278,783.40	15,290.00000	305,800.00	20,000.00000	400,000.00
0070 0660 4 12 VEHICLE DETECTIO FURNISH & INSTALI EQUIPMENT			4,032.53000	161,301.20	6,680.00000	267,200.00	8,000.00000	320,000.00
0075 0670 5400 TRAFFIC CONTROL MODIFY	LER ASSEMBLY	68.000 7, AS	2,012.65000	136,860.20	2,361.00000	160,548.00	1,000.00000	68,000.00
0080 0676 1117 TRAFFIC SIGNAL CO CABINET, FURNISH WITHOUT CONTRO 44" W x 72" H x 24" [& INSTALL LLER, NEMA SIZ	3.000 EA 2E7,	22,485.89000	67,457.67	24,215.00000	72,645.00	25,000.00000	75,000.00
0085 0684 1 1 MANAGED FIELD E ⁻ FURNISH & INSTALI		1.000 CH, EA	3,358.48000	3,358.48	3,427.00000	3,427.00	4,000.00000	4,000.00
0090 0695 8 11 TRAFFIC MONITORI COMMUNICATIONS INSTALL		1.000 EA SH &	3,327.42000	3,327.42	4,558.00000	4,558.00	3,000.00000	3,000.00

5
FDOT

				Tabulation of Bi	ds			Page 4 of 8
Letting:	05210504	May 04, 2021	Ca	all Order: 007		Contract:	E58A9	
Line No / Ite Item Descrij		te Quantity Units	(1) CO	NTI, LLC	· · /	C CONTROL ES, INC.		N LIGHTING AND ZATION, LLC.
() indicates ite	em is bid as Lump Sun	1	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECT	ΓΙΟΝ: 0001	Intelligent Trar	sportation Syst	em				
0001 Intellige	ent Transportation System	Section Totals:		\$1,323,159.42		\$1,477,000.00		\$1,648,020.00

Contract Grand Totals:	\$1,323,159.42	\$1,477,000.00	1,648,020.00



Tabulation of Bids

Page 5 of 8

Letting: 05210504	May 04, 2021	Cal	l Order: 007		Contract:	E58A9	
Line No / Item ID Alternate Item Description	Quantity Units	(4) HIGHWA DEVICE					
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Intelligent Tran	sportation Syster	n				
0005 0630 2 11 CONDUIT, FURNISH & INSTALL, OP TRENCH	1,000.000 EN LF	27.00000	27,000.00				
0010 0630 2 12 CONDUIT, FURNISH & INSTALL, DIRECTIONAL BORE	1,000.000 LF	51.00000	51,000.00				
0015 0635 2 11 PULL & SPLICE BOX, F&I, 13" x 24" COVER SIZE	5.000 EA	1,350.00000	6,750.00				
0020 0660 1105 LOOP DETECTOR, INDUCTIVE, F&I, TYPE 5, 2CHANNEL, SOLID STATE, SHELF MOUNTED	17.000 EA	520.00000	8,840.00				
0025 0660 1106 LOOP DETECTOR INDUCTIVE , F&I, TYPE 6, 2 CH,SS,S,TD	5.000 EA	520.00000	2,600.00				
0030 0660 1109 LOOP DETECTOR INDUCTIVE, F&I, TYPE 9	34.000 EA	150.00000	5,100.00				
0035 0660 1110 LOOP DETECTOR INDUCTIVE, F&I, TYPE 10	11.000 EA	175.00000	1,925.00				
0040 0660 2102 LOOP ASSEMBLY, F&I, TYPE B	14.000 AS	1,000.00000	14,000.00				



05/14/2021

Tabulation of Bids

Page 6 of 8

Letting: 05210504 May	04, 2021	Cal	l Order: 007	Contr	act: E5	58A9	
Line No / Item ID Alternate Item Description	Quantity Units	(4) HIGHWA DEVICE					
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price Ext Amou	nt Un	it Price Ext Amo	unt
SECTION: 0001 Inte	lligent Tran	sportation Syster	n				
0045 0660 2106 LOOP ASSEMBLY, F&I, TYPE F	17.000 AS	1,250.00000	21,250.00				
0050 0660 2401 1 LOOP ASSEMBLY, F&I, VEHICLE DETECTION LEAD IN- HOMERUN CONDUCTOR, AERIAL INCLUDE AERIAL / UNDERGROUND	0,880.000 LF	4.70000	51,136.00				
0055 0660 3 11 VEHICLE DETECTION SYSTEM- MICROWAVE, FURNISH & INSTALL CABINET EQUIPMENT	23.000 EA	8,200.00000	188,600.00				
0060 0660 3 12 VEHICLE DETECTION SYSTEM- MICROWAVE, FURNISH & INSTALL, ABOVE GROUND EQUIPMENT	45.000 EA	10,400.00000	468,000.00				
0065 0660 4 11 VEHICLE DETECTION SYSTEM- VIDEO, FURNISH & INSTALL CABINET EQUIPMENT	20.000 EA	16,400.00000	328,000.00				
0070 0660 4 12 VEHICLE DETECTION SYSTEM- VIDEO, FURNISH & INSTALL ABOVE GROUND EQUIPMENT	40.000 EA	13,100.00000	524,000.00				
0075 0670 5400 TRAFFIC CONTROLLER ASSEMBLY, MODIFY	68.000 AS	1,850.00000	125,800.00				



Tabulation of Bids

Page 7 of 8

Letting:	05210504 N	lay 04, 2021	Cal	l Order: 007		Contract:	E58A9	
Line No / Item II Item Description		Quantity Units	(4) HIGHWA DEVICE					
() indicates item is	bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	: 0001 I	ntelligent Tran	sportation System	n				
0080 0676 1117 TRAFFIC SIGNAL C CABINET, FURNISH WITHOUT CONTRO 44" W x 72" H x 24"	CONTROLLER 1 & INSTALL DLLER, NEMA SIZI	3.000 EA E7,	22,400.00000	67,200.00				
0085 0684 1 1 MANAGED FIELD E FURNISH & INSTAL		1.000 H, EA	5,400.00000	5,400.00				
0090 0695 8 11 TRAFFIC MONITOF COMMUNICATIONS INSTALL	-	1.000 EA SH &	1,830.00000	1,830.00				
0001 Intelligent T	ransportation Se System	ction Totals:		\$1,898,431.00				

Contract Grand Totals:

\$1,898,431.00

5	7
FDOT	15
	У

		Tabulation of Bids				
Letting:	05210504	May 04, 2021	Call Order: 007	Contract:	E58A9	
			e to file a protest within the time pre			

120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.